
1 2 3 4 B P 1 - 4 Záškodný – Pařil Štábl – Obrtel 2:0 1 2 3 4 5 B P 2 - 5 Zachrla - Švarc Hýsek – Ondrák 2:1

1 Záškodný – Pařil 2:0 2:0 2:0 6 1 2 - 3 Černohous – Jelínek Paraskevopulos - Smolík 0:2 1 Grmela – Tkaczik 2:0 2:0 2:0 2:0 8 1 3 - 4 Ječmínek – Hynšt Křižan – Konečný 2:0

2 Černohous – Jelínek 0:2 0:2 2:0 4 3 4 - 3 Štábl – Obrtel Paraskevopulos - Smolík 0:2 2 Zachrla - Švarc 0:2 2:1 2:0 2:1 7 2 5 - 3 Hýsek – Ondrák Ječmínek – Hynšt 0:2

3 Paraskevopulos - Smolík 0:2 2:0 2:0 5 2 1 - 2 Záškodný – Pařil Černohous – Jelínek 2:0 3 Ječmínek – Hynšt 0:2 1:2 2:0 2:0 6 3 1 - 2 Grmela – Tkaczik Zachrla - Švarc 2:0

4 Štábl – Obrtel 0:2 0:2 0:2 3 4 2 - 4 Černohous – Jelínek Štábl – Obrtel 2:0 4 Křižan – Konečný 0:2 0:2 0:2 2:0 5 4 3 - 1 Ječmínek – Hynšt Grmela – Tkaczik 0:2

3 - 1 Paraskevopulos - Smolík Záškodný – Pařil 0:2 5 Hýsek – Ondrák 0:2 1:2 0:2 0:2 4 5 4 - 5 Křižan – Konečný Hýsek – Ondrák 2:0

1 - 4 Grmela – Tkaczik Křižan – Konečný 2:0

2 - 3 Zachrla - Švarc Ječmínek – Hynšt 2:1

1 2 3 4 B P 1 - 4 Vejmola – Pokorný Ocknecht – Kuchař 2:0 4 - 2 Křižan – Konečný Zachrla - Švarc 0:2

1 Vejmola – Pokorný 2:1 2:1 2:0 6 1 2 - 3 Martinů – Hilšer Konečný – Konečný 1:2 5 - 1 Hýsek – Ondrák Grmela – Tkaczik 0:2

2 Martinů – Hilšer 1:2 1:2 2:0 4 3 4 - 3 Ocknecht – Kuchař Konečný – Konečný 1:2

3 Konečný – Konečný 1:2 2:1 2:1 5 2 1 - 2 Vejmola – Pokorný Martinů – Hilšer 2:1

4 Ocknecht – Kuchař 0:2 0:2 1:2 3 4 2 - 4 Martinů – Hilšer Ocknecht – Kuchař 2:0

3 - 1 Konečný – Konečný Vejmola – Pokorný 1:2

1 2 3 4 5 B P 2 - 5 Gajdoš – Blabla Dvořák – Němeček 2:0

1 2 3 4 B P 1 - 4 Orság – Sedláček Kyrych – Chromčák 2:1 1 Zavadil – Blaha 2:0 2:0 2:0 2:0 8 1 3 - 4 Rotrekl – Vytřísal Mrhálek – Slováková 2:0

1 Orság – Sedláček 2:0 2:0 2:1 6 1 2 - 3 Kvíčala – Brandejs Šiller – Hons 1:2 2 Gajdoš – Blabla 0:2 2:1 2:0 2:0 7 2 5 - 3 Dvořák – Němeček Rotrekl – Vytřísal 0:2

2 Kvíčala – Brandejs 0:2 1:2 2:1 4 3 4 - 3 Kyrych – Chromčák Šiller – Hons 0:2 3 Rotrekl – Vytřísal 0:2 1:2 2:0 2:0 6 3 1 - 2 Zavadil – Blaha Gajdoš – Blabla 2:0

3 Šiller – Hons 0:2 2:1 2:0 5 2 1 - 2 Orság – Sedláček Kvíčala – Brandejs 2:0 4 Mrhálek – Slováková 0:2 0:2 0:2 2:1 5 4 3 - 1 Rotrekl – Vytřísal Zavadil – Blaha 0:2

4 Kyrych – Chromčák 1:2 1:2 0:2 3 4 2 - 4 Kvíčala – Brandejs Kyrych – Chromčák 2:1 5 Dvořák – Němeček 0:2 0:2 0:2 1:2 4 5 4 - 5 Mrhálek – Slováková Dvořák – Němeček 2:1

3 - 1 Šiller – Hons Orság – Sedláček 0:2 1 - 4 Zavadil – Blaha Mrhálek – Slováková 2:0

2 - 3 Gajdoš – Blabla Rotrekl – Vytřísal 2:1

1 2 3 4 B P 1 - 4 Schopf – Honemann Miklas – Hanák 2:0 4 - 2 Mrhálek – Slováková Gajdoš – Blabla 0:2

1 Schopf – Honemann 2:0 2:0 2:0 6 1 2 - 3 Škvor – Zuština Hejduk – Strohalm 2:0 5 - 1 Dvořák – Němeček Zavadil – Blaha 0:2

2 Škvor – Zuština 0:2 2:0 2:0 5 2 4 - 3 Miklas – Hanák Hejduk – Strohalm 0:2

3 Hejduk – Strohalm 0:2 0:2 2:0 4 3 1 - 2 Schopf – Honemann Škvor – Zuština 2:0

4 Miklas – Hanák 0:2 0:2 0:2 3 4 2 - 4 Škvor – Zuština Miklas – Hanák 2:0

3 - 1 Hejduk – Strohalm Schopf – Honemann 0:2
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